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Unless the writing - 902 10RO N3N RN TV
and the signing of the ) were done while the v} was detached

OVERVIEW
77 °27 states that both the 72°n> and the 7m°nn must be w%na. Our MdOIN
explains why it is necessary to mention 1n°nm, if the 72°n2 was w12n2.

nooIN asks:
= INNNY VPINID ND NNY 9NN ON)

And if you will say; why did °"7 have to mention concerning the
‘signing’, that it too needs to be performed while the v3 is detached -

— 925NN XANY INDHND TWAN IN ¥IVNI 1NN NHYAY 1D
Since the writing of the vx was w»n2 it is impossible that the signing of
the v can be 922"

N1B0IN answers:
- YIIN 19N YY 13NV DY HNIYNT Y Y

And one can say; that it is possible that the 72°nn be 72122 even though

the 72°n> was w17n3; if he wrote the v on a detached tree -
= MHN YIVUNI YOI 73 9NN

And afterwards he planted this tree with the v written on it, and it took

root and is considered 12177, then it was signed by the witnesses. That is why
»""9 states that both the ;72°n> and the 77°n1 must be wivnA.

SUMMARY
It is possible to have the w1902 12°n2 and the 222 7n°nm; if one replants the
tree between the 72°n2 and the 7 nm.

THINKING IT OVER

1. Let us say that the reason "7 mentioned "nn°nnY, is to teach us that '2n3>Y'
refers both to the 72°n> and the fn°nn. This would teach us that both the
7P NMY 12°N2 are required to be TRWS.

2. What would the 1°7 be in a case where it was ¥1?n2 anni) 2n21 and then he
planted it, and subsequently gave it to the 7wx?’

' The vx was already detached when it was written. The signing is after the writing.
2
See n'"m.
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